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They can also not claim to be minors, as %''2w- stated

OVERVIEW

The X713 states that (according to n"7) the 07V are not believed to claim
117 M7V "7109, because the MY is P»7 p7a. They are also not believed to
claim that 11°77 2°1vp, on account of ?"7 who maintains that there is a apm
that only adults sign on MW, not 21vp." It seems that the reason for o*1vp is
different than p>7 P71 9.2 Our noon will discuss if this is indeed so.

MooIN anticipates a question:
= P97 P70 N9 MITNT DIVN 93 D2VP) 91999 81 NN

The X713 could have explained that the reason they cannot claim that they

were 2vup is also because the /%% himself is very meticulous to sign only
proper witnesses. He will not permit minors to sign, just as he will not permit 2*7v *2105
to sign. MoO1N is asking that it was not necessary to give a different answer by 0°10p. The
X3 could have given the same explanation by 0°1vp as it gave by 0°7v *10.

mooIn replies:
- INIINN NNYO 1N Y92 VPINY 1YY NNT NIN

However it was preferable for the X711 to point out in each case a
different reason why they are not believed.

nooIn offers another answer:
- 4‘,7”"! P99 MY DIVN ) NI YIPY YWIIT NNYL 1) ON

If you wish we can also answer, the reason for the 71 of ®''1 itself, is also
because the M2 is very careful. There are no two reasons; it is the same reason.

' %"9 actually states that the 27y do not sign on a 70w, unless the parties (i.e. M2 M) are 22173 We may
also extend this logic that the o7y will not sign unless they are 0173 See (however) footnote # 2. See
X"py who questions this logic.

* Perhaps the 7Pt concerning D°1vp is based on the reality that children are not readily available in
situations where M1uw are written. Usually only adults are present. See >"2 MR 2°¥1777 N11OWH.

3 If the reason is the same in all cases, why mention all of the cases; one would be sufficient. This indicates
that the Xin is teaching us that there are various different reasons for the different cases. It is possible that
sometimes when one reason (>>7 >71 mM7n) is not applicable (if for instance they signed in the presence of
the M? only, and the m%n» was not there); then in that case we can employ the other reason (of 7"2w").

* According to this answer we will not accept the logic and arguments of footnotes # 2&3. [The reason the
X7n3 finds it necessary to cite 9"3 concerning 0°1vp, is perhaps it is more difficult to distinguish certain
(mature) 0°1vp from 2°7173, than to know who the M7y *109 are. The X113 therefore cites 7" as a support.]
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The m%n is 7 p7n; therefore no 0>7v *9105 and no 0°1vP sign on a MWW,

It would seem that according to this view "9 does not mean that only 2°1vp do not sign
on a "W, but rather that 0>7v *9105 and 2°1vp do not sign on a W. The question arises —
= 1Y SIDIN YIPY 12 PYNY 2397 91910 N XM

What is the reason that the X713 does not cite »''2w1 concerning n17y “710
as well? Instead of making an anonymous assumption that p»7 p7°n 7991 M9, it would
have been better to credit this assumption to an authority like 5"aw".

mooIn responds:
- 5159272 VP NN 9910 XY WIPY ¥IHT 0IWn

Because »''1 did not mention 2>7v °2109 in his statement, but rather he only

mentioned 2°1v? in his statement. Therefore the X3 could not have cited that "1
maintains that M7y °2109 do not sign on a Tw. Even though %" definitely agrees to it.

SUMMARY
The 13117 of 2" can either be based on the reason of p>>7 P72 MY, or it can
be independently valid.

THINKING IT OVER
Is there a practical difference between the two interpretations of mooIn?°

> 931 made his statement in conjunction with a case concerning 2°up.
% See footnote # 3.
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